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BRASR BREER IR sxmsey  BRAZAZTCE “’igf’;‘f“‘ HPEREE BRUAKER ERERE BERNEE BEGER RIEER THNREE
Xl ERA k- vF) TNT TR 100 0 100 100 0] 0] 0] 0] 0] 150 100 0] 0]
s FEMA k- %) Zofh (E&H) 690 0| 1,280 520 1,890 0| 0| 0| 0| 520 570 0| 0|
Xl ERE k- SvE) 0 0 0 0 0 0 0 0 0] 0] 0] 0] 0]
s Zof (RE—=7—F - NEER) 0 0 0 0| 20 0| 0| 0| 0| 0| 0| 0| 0|
LRs) A& (500ml) 600 0] 744 456 3,480 0] 0] 0] 0] 528 504] 0] 0]
Les ARk & (29 v bav) 0 0 0 0| 0| 0| 0| 0| 0| 0| 0| 0| 0|
LRs) R ek (500ml) 0 0 0] 0 0 0 0 0 0] 0] 0] 0] 0]
ke fE%£E - F& - R F& (Bi%A) 9 15| 9 9 12| 6 6 0| 6 9| 9| 6 6
R fEEE - F& - Bl ELNETFE 5 600 5 4 6 3 3 0] 3 5 5 3 3
HFF - BB BRTA& hteybarno 1 0| 0| 0| 0| 0| 0| 0| 0| 1 0| 0| 0|
- A AR hey bR 96 6 96 96 144] 48 48 48 48 100] 48 48 48
B - B8 Chiik Zofh (AFAR) 1 0 1 0| 0| 0| 0| 0| 0| 2| 1 0| 0|
- A ] F5AFyvavT 0] 0] 0 0 0 0 0 0 0] 0] 0] 0] 0]
£ 1) JEEES - a—F Bt (H3) 6 6 6 6 6 6 6 14| 6 18 6 14| 6
BB EERER S Zoft (BfmZ CHiER) ) 7 2| 6] 5 1 4 4 5 4 7 7 4 3
£ 1) SEEES - a—F Bt (Ha) 0 0 0 0| 0| 0| 0| 0| 0| 0| 0| 0| 0|
BlOHES SE#ES - a—F GER—F 0] 0] 0] 0 0 0 0 0 0] 0] 0] 0] 0]
BEER EERE Zofh (£ERE) 4 2 3 2| 2| 2| 2| 3 2| 2| 2| 3 2|
BB ZHRE Ab=7 (F#) 1 1 2| 1 2| 1 1 6] 0 1 1 0 0
AR @ - BEMA N FY=7 5 2 5| 4 o 3 3 4 3 5 5 3 3
EERR LRSS E e 900 600 1,100 900 1,000 800 700 900 600 1,100 1,200 0] 600
EEAR b LA& LELESY 2 1 2 1 4 2| 1 2| 1 2| 2| 0| 1
EERR wRAE 2% (450) 210 110 2| 2| 200 210 110 2| 0] 3 3 1 1
EEAR PR - MR - BRENES hys-bAra—t 6 9 6 6 9| 6 3 0| 3 6 6 3 3
EERR BHEE - A - MRENES Zoft (BHEL - WE - ShEHER) 700 0] 550 400 1,300 299 100] 400 200 850 550 0 100
EEAR BR - 240 £ 11 10| 90 40 950 48 10| 130] 10| 22 121 76 10|
EERR =E - 24 B -y F 3 0] 3 2| 4 2| 2| 2| 2| 3 3 2| 2|
EEAR BR - 24N ksl 0 0 0 0 0| 0| 0| 0| 0| 0| 0| 0| 0|
EERR =E - 24 = (Buiv F) 0] 0] 0] 0] 0] 0] 0] 0] 0] 0] 0] 0] 0]
EEAR Ot ENE Ry 8 1 8 5| 450 5 4 5 4 8| 8| 4 5
EERR TOMEERE HER 15| 2 15| 10| 13| 5 8 10 8 15 15 5 8
EEAR Ot ENE Zoft (ZOfEEHE) 26 105] 26 21 25 17 17 20 17 25 26 18 17
EEAR ZofEgs R G 3 1 3 2 4 2 2 2 2 3 3 2 2
EEAR Z Ot ENE ZxzARY—=NLF 10| 10| 10| 10| 20 10| 10| 10| 10| 10| 10| 10| 10|
EERR R—N—3E - EBAR EREF TR 492 44 0 132] 3,600 88 0] 492 0] 0] 0] 0] 0]
EEAR N——F - A ERAS Zofh (R——4 - £BAR) 8 3 7 8| 3,898 462 4 7 4 7 8| 4 4
EERR R—N—3E - EBAR KABBEL2 (L) 0 0] 0 0 1,674] 140] 0] 0] 0] 0] 0] 0] 0]
EEAR N——F - A ERAS PALy pR—s— 0 0 0 0 0 0| 0| 0| 0| 0| 0| 0| 0|
EEAR At -2: 1L Zoft (R—r—4- £BAR) (DE2) 0 0| 0| 0| 0| 0| 0| 0| 0| 0 0 0 0
EEAR ~E—Ff& Zof (Re—B&) 10| 5 10| 8| 13 8 5 8| 5 10| 10| 5 5
EEAR NE—FS FRASLS (G RA) o o o 0 76, 0 0 0 0 0 0 0 0
EEAR ~E—Ff& FHALL2 (S) 0 0 0 0| 70 0| 0| 0| 0| 0| 0| 0| 0|
EERR ~E—F& FHABL2 (M) 0 0 0 0 56 0 0 0 0] 0] 0] 0] 0]
EEAR ~E—Ff& FHASL2 (L) 0 0 0| 0| 2,016 0| 0| 0| 0| 0| 0| 0| 0|
EERR ~E—F& WHFLIE 0 0 0 0 0 0 0 0 0] 0] 0] 0] 0]
EEAR ~E—Ff& WEILIAN B 0 0 0 0| 0| 0| 0| 0| 0| 0| 0| 0| 0|
BRFEE - HRAR s N—F—t 2> (Bof— AR 3| o 3| 2 o 2 2 2 2 3 2 0 0
BEFER - TRES Bk Zoft (RER) 18 13 17 15| 46 12| 9| 8| 9| 18 18 10| 6
BEFESR - BRAS B{CED Frb 0] 0] 0 0 0 0 0| 0 0] 0] 0] 0] 0]
BEFER - TRES Bk 1R A L 0 0 0 0 0 0| 0| 0| 0| 0| 0| 0| 0|
BRFEE - HRAR rer) Zoft G5RMS) 1 1 1 1 1 1 1 1 1 1 1 1 1
BEFER - TRES ICRAR ==t 0| 0| 0| 0| 0| 0| 0| 0| 0| 0| 0| 0| 0|
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KN HE KA L FROSAT e KGRAE BB SR SERRE HA R MAASIZTCE  mrmonen SYRREE (BB
Akt ERE Gk VH) THT ek 50] 100, 250 200 0 200 0 150, 0 0 0 150
okt EEE (k%) Zof (E58) 630 700, 1,280 400 0 350 0 350 400 366, 0 300
Aokt ERE G 0H) 0 0 0 0 0 0 0 0 0 0 0 0
it Zofh (RE—7—F - NEAR) 0 0 0 0 0 0 0 0 0 0 0 0
ikt K (500mI) 792 1,161 432, 624, 0 240, 0 648, 624, 604, 0 504
B B K (U b 0 0 0 0 0 0 0 0 0 0 0 0
ikt 8 x84 (500m1) 0 0 0 0 0 0 0 0 0 0 0 0
ES e - T8 RH 8 (Em) 9 9 6 6 6 6 6 9 6 6 6 6
e R - F - RH EOBRTFR 4 4 2 3 3 3 2 4 3 3 2 3
s - BE BRTAS Ay bava 1 0 0 1 0 1 0 0 1 1 0 1
B S Bty b 96| 96| 48| 96| 48 102 59| 96| 48 9 48 54
b - BB BEik Zof (AFAR) 1 1 0 1 0 1 0 1 1 1 0 1
G - R B F3RFvoaT 0 0 0 0 0 0 0 0 0 0 0 0
BIHR EEERERY Bt (43) 6 6 6 6 3 18 6 6 6 6 6 4
BRRS HIESR - A F Zoft (BfmZ CHiER) ) 5| 4 3 4 3 5 3 4 4 5 3 4
BIHS HHEES - a—F Bt (#4) 0 0 0 0 0 0 0 8 0 0 0 0
BN R RERTY iERa— K 0 0 0 0 0 0 0 0 0 0 0 0
BHR LERE Zof (£ERE) 2 3 2 2 2 2 2 2 2 2 2 2
BRRS FHRE Ab=7 (F#) 1 1 2 1 0 1 1 1 2 1 0 1
EEAR e - BEMA Ny k=7 4 4 2 3 3 3 2 4 3 3 2 3
EERS FALAS EX e 900 1,200 700 800) 600 700 700 700 800, 900, 600, 800,
EERS %) CETEE® 2 2 3 3 1 2 0 2 3 2 1 2
EERS A T35 (450) 2 2 3 100, 31 2 2 2 100, 310, 100 110
EEAR BRA - WA - MPENES Ay Lgya-p 6 6 3 3 3 6 3 6 3 6 3 6
EERS PR - WA - MEENES Zoft (HRE - HE - BHEHES) 400, 400, 100 0 100 298, 0 400, 200, 300 100 300
EEAR LR LS = 105, 124 60) 50] 10 22| 10 60) 50 66 10 40
EERS =R a4 Bt — Ly K 2 3 3 2 2 2 2 2 2 2 2 2
EEAR LR LS 4 0 0 0 5 0 0 0 0 0 0 0 0
EERS ECRPEYS S—y (Bt F) 0 0 0 0 0 0 0 0 0 0 0 0
EERS ZOWEERE <2y 6 6 3 150, 53] 5 4 6 4 5 4 5
EERS ZOWEERE HER 10| 10| 2 3 10| 5 2 10| 8 10 2 10
EERS ZOWEERE Zof (ZOfEENSE) 31 21 15 17 17 19 15 21 17 9 15 58
EERS ZOMEERE BA GEAeR) 2 2 1 2 2 2 1 2 2 2 1 2
EERS ZOWEERE FrARY—LF 10 10 10 10 10 10 10 10 10 10 10 10
EERS Rt AR EBEFTEY 0 0 0 264, 0 0 a4 0 0 0 0 0
EERS NS EEAG Zof (== £EAR) 8 8 2 4 800 6 2 7 4 6 2 6
EERS N RS KABELD (U 0 0 0 0 0 0 0 0 0 0 0 0
EEAR NS AR FA Ly br—sim 0 0 0 0 0 0 0 0 0 0 0 0
EEAR At -2: 1L Zoft (R—r—4- £BAR) (DE2) 0 0 0 0 0 0 0 0 0 0 0 0
EERS ~e—FR Zof (~E—BS) 8 8 5 5 5 8 5 8 5 8 5 8
EERS ~E-R& FHEHLD GiERR) 0 0 0 0 0 0 0 0 0 0 0 0
EERS ~E—FR FEAHLD (S) 0 0 0 0 0 0 0 0 0 0 0 0
EERS ~E-R& FHESLHD (M) 0 0 0 0 0 0 0 0 0 0 0 0
EERS ~E—FR FEAHL2 (D) 0 0 0 0 0 0 0 0 0 0 0 0
EERS ~E-R& ALK 0 0 0 0 0 0 0 0 0 0 0 0
EERS ~E—fR WL B 0 0 0 0 0 0 0 0 0 0 0 0
G - SRR EUE S—F—vay (BR-LEL) 2 2 2 1 0 2 2 2 2 2 2 2
A - SRR B Zof (BES) 16 16 9 9 8 13 7 15 9 14 7 82
G - SRR EUE Fyb 0 0 0 3 0 0 0 0 0 0 0 0
A - SRR B iR A 0 0 0 0 0 0 0 0 0 0 0 0
G - SRR EERES zoft (i5AR) 1 1 1 1 1 1 1 1 1 1 1 1
REFES - SRR EVES Tn—s—t 0 0 0 0 0 0 0 0 0 0 0 0
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HROBTEATEHO TR, EHOBEREAMEBELHSHOTT,

RWAZI=70E  camien sampRE  TRISIZTE papmess- Bl EALEEE RRN ey x  VEEASAZTO O epien TR ¥
Akt ERE Gk VH) THT ek 0 100, 0 50] 0 100, 0 100, 150, 100, 100, 0 100
okt EEE (k%) Zof (E58) 670 760, 0 660 0 520, 0 400 2,450, 520, 393 950 400
Aokt ERE G 0H) 0 0 0 0 0 0 0 0 0 0 0 0 0
it Zofh (RE—7—F - NEAR) 0 0 0 0 0 0 0 0 40) 0 0 20| 0
ikt K (500mI) 624 840 0 672 0 264 0 576 1,248 456, 310 504 480)
B B K (U b 0 0 0 0 0 0 0 0 10 0 0 0 0
ikt 8 x84 (500m1) 0 0 0 0 0 0 0 0 0 0 0 0 0
ES e - T8 RH 8 (Em) 6 9 6 6 6 9 6 9 9 6 6 6 6
e R - F - RH EOBRTFR 3 5 3 3 2 5 3 5 4 3 3 3 3
- BB ELE Ay bava 0 1 0 0 0 0 0 1 0 0 1 1 0
B S PR 2 33| 96| 48| 48| 48| 96| 48| 102, 96| 42| 9 9 102
b - BB ELE Zof (AFAR) 0 1 0 0 0 1 0 1 1 0 1 1 1
G - R B FIRFyoA9T 0 0 0 0 0 0 0 0 0 0 0 0 0
BIHR EEERERY Bt (43) 6 6 6 2 6 6 6 6 18 4 4 14 4
BRRS EERER S Zoft (BleRe CHER) ) 5 7 4 5 3 7 4 7 5 4 5 5 5
BIHR EEERERY wEt (44) 0 0 0 0 0 0 0 0 0 0 0 0 0
BN R RERTY iERa— K 0 0 0 0 0 0 0 0 0 0 0 0 0
BHR ERE Zof (£ERE) 3 2 2 1 2 2 2 3 2 2 2 2 1
BRRS FHRE Ab=7 (F#) 1 2 1 0 0 1 1 1 1 2 1 1 1
EEAR e - BEMA Ny k=7 3 5 3 3 2 5 3 5 4 3 3 3 3
EERS FALAS EX e 800 1,100 300, 600 600 900 700 1,000 1,400, 800 1,100 700 800
EEAR %) CETEE® 2 2 2 1 1 1 2 2 2 2 2 2 2
EERS A T35 (450) 1 3 1 1 110, 2 100, 3 2 2 2 2 2
EEAR BRA - MR - RPEAES Ay Lgya-p 3 6 3 3 3 6 3 6 6 3 6 6 6
EERR PR - WA - MEENES Zoft (HRE - HE - BHEHES) 200 700 100, 200 100, 550, 200 700 400 200 300, 300, 300,
EEAR LR LS = 85| 87| 10 65| 0 20| 10 100, 0 30) 46| 50] 60
EERS =R a4 Bt — Ly K 7 3 2 2 2 3 2 3 2 2 2 2 2
EEAR LR LS 4 0 0 0 0 0 0 0 0 0 0 0 0 0
EERS ECRPEYS S—y (Bt F) 0 0 0 0 0 0 0 0 0 0 0 0 0
EERS ZOWEERE <2y 4 8 4 50] 4 8 4 8 5 4 5 5 4
EERS ZOWEERE HER 8 15| 8 8 2 15| 8 15| 10| 8 10| 10 10
EEAR Z Dl RS Zof (ZOfEENSE) 17 26| 17 17 15 21 21| 26| 21 17 19 18 19
EERS ZOMEERE BA GEAeR) 3 3 2 2 1 3 2 3 2 1 2 2 2
EEAR Z Dl RS FrARY—LF 10 10 10 7 10 10 10 10 10 10 10 10 10
EERR Rt AR EBEFSEY 0 580 a4 360 0 176, 0 0 0 0 0 0 0
EEAR NS EEAG Zof (== £EAR) 4 7 4 4 2 8 4 8 7 3 6 6 6
EERS N RS KABELD (U 0 0 0 0 0 0 0 0 0 0 0 0 0
EEAR NS AR FA Ly br—sim 0 0 0 0 0 0 0 0 0 0 0 0 0
EEAR At -2: 1L Zoft (R—r—4- £BAR) (DE2) 0 0 0 0 0 0 0 0 0 0 0 0 0
EEAR ~e—FR Zof (~E—BS) 5 10 5 5 5 10 5 10 8 3 8 8 8
EERR ~E—fS FHRABLD GERA) 0 0 0 0 0 0 0 0 0 0 0 0 0
EEAR ~E—FR FEAHLD (S) 0 0 0 0 0 0 0 0 0 0 0 0 0
EERS ~E-R& FHESLHD (M) 0 0 0 0 0 0 0 0 0 0 0 0 0
EEAR ~E—FR FEAHL2 (D) 0 0 0 0 0 0 0 0 0 0 0 0 0
EERS ~E-R& ALK 0 0 0 0 0 0 0 0 0 0 0 0 0
EEAR ~E—fR WL B 0 0 0 0 0 0 0 0 0 0 0 0 0
G - SRR EUE S—F—vay (BR-LEL) 7 3 2 0 0 3 2 3 2 2 2 2 2
AR - SRR ECE Zof (BES) 10 18 7 9 9 19 9 18 16 10 14 14 14
G - SRR EUE Fyb 0 0 0 0 0 0 0 0 0 0 0 0 0
AR - SRR B iR A 0 0 0 0 0 0 0 0 0 0 0 0 0
G - SRR EERES zoft (i5AR) 1 1 1 1 1 1 1 1 1 1 1 1 1
AR - SRR SR AR Tn—s—t 0 0 0 0 0 0 0 0 0 0 0 0 0
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EBEEZERES  minen x Rl FATYER Ef::ﬁztfﬁc
Bl
Akt ERE Gk VH) TNT Tk 0 0 100, 100, 2,650,
okt EEE (k%) Zof (E58) 930 1,836 640 150, 21,525
L] TR Gk F) 0 0 0 0 0
it Zof (RE-7—F - NEAR) 0 20| 0 0 100,
ikt K (500mI) 912 1,056/ 528| 300, 20711
B B K (U b 0 0 0 0 10
ikt 8 x84 (500m1) 0 128 0 0 128
e e - T8 RH 8 (Em) 66 9 9 6 363
e R - F - RH EOBRTFR 23] 4 4 200 957
s - BE BRTAS Ay bava 0 1 0 0 13
a7 - R S PR 2 54 102, 96| 48| 3,012]
b - BB ELE Zof (AFAR) 0 1 1 1 23]
G - R B FIRFyoA9T 0 0 0 0 0
BIHR EEERERTY Bt (43) 6 6 6 6 299
BN R RERTY Zofl (BIRE GHkS) ) 1 3 4 4 204
BIHS HHEES - a—F Bt (#4) 0 0 0 0 8
BN R RERTY iERa— K 0 0 0 0 0
BHR ERE Zof (£ERE) 2 2 2 2 91
BRRS FHRE Ab=7 (F#) 2 1 1 1 47
EEAR el - BEAR Ny k=7 3 4 4 3 146,
EERR FALAS EX e 25,100 1,500 900 800 59,900)
EEAR HA LA CETEE® 65| 2 2 2 138
EERR A T35 (450) 1 2 3 1 1,866,
EEAR BRA - MR - RPEAES Ay Lgya-p 18 6 6 3 213
EERR BRE - WA - HRENES Zofl (HRA - WE - BRENES) 100, 260 400 100, 13,157]
EEAR LR LS = 40) 128 85| 75| 3,026
EERS =R a4 Bt — Ly K 115, 2 2 2 211
EEAR LR LS #0 0 0 0 0 5
EERR ECRPEYS S—y (Bt F) 0 0 0 0 0
EEAR Z Dl RS <2y 203 5 5 4 1,096
EERR ZOWEERE HER 28| 5 9 8 388|
EEAR Z Dl RS Zof (ZOfEENSE) 42| 21 21 17 976
EERR 2 DfbsERE BA GEAeR) 9 2 2 2 95|
EEAR Z Dl RS FrARY—LF 60) 10 10 10 417
EERR Rt AR EBEFSEY 88 0 0 0 6,404
EEAR NS EEAG Zof (== £EAR) 14 6 7 4 5,379)
EEAR At -2: 1L KABEL L) 0 0 0 0 1814
EEAR NS EEAG FA Ly br—sim 1,260 0 0 0 1,260
EERR N RS 2ot (<—r - £RAS) (HEE) 0 0 0 0 0
EEAR ~E-R& Zof (~E—BS) 55| 7 8 5 345
EERR ~E-R& FHEHLD GiERR) 0 0 0 0 76|
EEAR ~E-R& FHRABLD (S) 0 0 0 0 70)
EEAR ~E-R& FHRABLD (M) 0 0 0 0 56
EEAR ~E-R& FHABL (L 0 0 0 0 2,016]
EERR ~E-R& ALK 0 0 0 0 0
EEAR ~E-R& WL B 0 0 0 0 0
G - SRR EUE S—F—vay (BR-LEL) 123, 2 2 0 205
AR - SRR ECE Zof (BES) 64] 15 16 10 676
G - SRR EUE Fyb 9 0 0 0 12|
AR - SRR ECE iR A 0 0 0 0 0
G - SRR i A zoft (i5AR) 1 1 1 0 42|
AR - SRR SR AR Tn—s—t 190, 0 0 0 190,




